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A IEEETE A FI ARG - DBRBET AR E108E $2F T plHRL o etk
S AR ORE

AEFAERFTEPRP 108 #5724 pief7 > TR Q&-?/ﬁ*iﬁ_f‘ﬁ@%é‘i%’i
TR AA) S B 2 XA SR AB)E A KT E tE(C)E 3 2o F
IR & 5k ~pH-DO-~BODs~COD~SS~ # A& ~ 5/ & - 54 53
BHESRE ~FF RN 3G ZEF EE R IR T2 B
B - ) A TAEE Wy -8~ £ 4 8KCu~Hg~Pb~2Zn-
Cd Ni~Cr)~As & » ERMEF 2+ F- o AELRIHEZLH -7 K2 AR
2L RFIBE L RA R R R RS - ERIE %354 6 2 B 28~ 53 -

306 BREAEKTERSS REA

o (2]
R G
P A A Ax B B Bx C: C: Cxr A
(% 1) g
pH 8.3 8.3 8.3 8.2 8.3 8.3 8.3 8.3 8.3 |7.5~85
KR (C) 28.6 27.8 26.4 28.6 28.0 26.6 28.8 28.2 26.8 -
2§ £ (mg/L) 5.7 5.4 5.3 5.8 5.4 5.4 5.8 5.6 54 | >5.0
% i 748 (mg/L) 3.4 2.8 3.0 4.7 4.1 4.0 3.2 3.7 2.8 —
A & (psu) 33.7 33.8 33.8 33.8 33.8 33.8 33.8 33.8 33.9 -
# PR (m) 1.37 - - 121 - - 1.42 - - -
4 v 75 §(mg/L) <1.0 14 <1.0 <1.0 1.0 <1.0 <1.0 <1.0 <1.0 <3.0
it 825 #(mg/L) 7.9 1.7 8.0 7.2 7.5 7.3 7.2 7.8 7.5 -
s Ak(mg/L) 0.011 | 0.020 | 0.013 | 0.037 | 0.006 | 0.018 | 0.012 | 0.015 | 0.016 -
%% (mg/L) 0.97 0.45 0.47 0.56 0.58 0.40 0.37 0.47 0.45 —
% % (mg/L) 0.06 0.07 0.05 0.06 0.07 0.05 0.05 0.06 0.05 -
e g (mg/l) <0.50 | <0.50 | <0.50 0.50 0.51 <0.50 | <0.50 | <0.50 | <0.50 —
# % 7 (mg/L) 211 0.29 0.30 0.22 0.24 0.25 0.33 0.42 0.59 -
I & e % (mg/L) N.D. 0.03 0.02 0.04 0.03 0.02 0.03 0.02 0.02 -
7@ F5(mg/L) <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2
@ f= (mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.01
< v; 1 kA
(CFUIL ogﬂm 0 25 30 20 <10 50 <10 40 40 20 —
F (mg/L) <0.0020 | <0.0020 | <0.0020 | <0.0020 | <0.0020 | <0.0020 | <0.0020 | <0.0020 | <0.0020| 0.05
4% (mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. | 0.005
4.(mg/L) <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | 0.05
A& (mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. | 0.001
4% (mg/L) N.D. |<0.0010| N.D. N.D. N.D. N.D. N.D. N.D. |[<0.0010| 0.03
44 (mg/L) <0.0010 | <0.0010 | <0.0010 | N.D. N.D. N.D. N.D. N.D. [<0.0010| —
£-(mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
#:(mg/L) <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | N.D. |<0.0050| 0.5
I % % (mg/L)| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
£ 5 #(mg/L)| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
3 | = {l+(mg/L)| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
B | = ¥(mg/L)| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
I 274> (mg/L)|<0.00250{<0.00250{<0.00250{<0.00250|<0.00250{<0.00250|<0.00250|<0.00250(<0.00250| 0.1
- &¥(mg/L)| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
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